Math 10 – Assignment 3 – Due Wednesday, Feb 24th
1. Find the missing measures in the similar triangles: [image: image1.png]20





2. On a sunny day, the shadow of a tree 10m high is 8m long.  A building has a shadow of 24m long.  How tall is the building?

3. A building is 20m high.  You can just see the top of it over a tree when you are standing 35m away from the building, and 15m away from the tree.  How tall is the tree?

4. Write each of the following as an entire radical:
a. 3√2
    b.   6√2
  c.   8√3
 d.   4√5

e.   9√7

f.   4√10
5. Write each of the following as a mixed radical in its simplest terms (can’t break it down any further):

a. √50
   b.   √20
  c.   √28
 d.   √32

 e.  √200
f.   √175
6. Find the measure of each angle to the nearest degree:
a. Sin A = 0.9135
   b.   Cos A = 0.3265
 c.   Tan A = 20.12
d.   Sin A = 0.2312
7. Find the length of the missing sides: [image: image2.png]1256
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8. A ladder, 10.0m long, leans against a wall so that it makes a 69˚ angle with the ground.  How far up the wall does it reach?
9. A tree, 15.0m long, casts a shadow 23.0m long.  Calculate the inclination of the sun (the angle that it hits the ground) at this time of day.

10. A mountain road drops 5.2m for every 22.5m of road.  Calculate the angle at which the road is inclined to the horizontal.

11. Your eyes are at 1.5m above the ground.  You look up and see a tree at 65˚.  

a. If you are standing 10m from the tree, how tall is it?

b. What would the angle be if you were lying on your stomach looking up from the ground?

12. The angle of elevation of the top of a tower is 28˚ from a point 19.0m from its base.  How tall is it?
13. The angle of elevation of the top of a cliff, taken from a point 126.0m from the base of the cliff, is 35˚.  How high is the cliff?
*Note for the next few questions: the angle of depression is the angle looking down.  It’s the opposite to the angle of elevation.

14.
From the top of the cliff, the angle of depression of a sailboat is 32˚.  If the cliff is 63.0m high, how far away is the sailboat from the base of the cliff?

15.
From a hot-air balloon, 600.0m high, the angle of depression of a car is 54˚.  How far away is the car from the balloon?

